65.8

Y

FURLER

RS006000

87.2

?32.0

72.6

52.5

4.7

— 6.4
Q4.7
TOP SWIVEL
RS006010
@4.8
10.8—>|_l e
()

SNAP-SHACKLE
RF6170

SHACKLE TWO WAY LINK
RF150 RF815

PART No:

SPECIFICATION SHEET Series 60

—> <— 7.5

20.0 08

] )

N1 /N
19.3 7
11.0 6.5

THIMBLE
RF2181

SPECIFICATIONS: SMALL BOAT GENNAKER
FURLER

RS006000 - FURLER

MWL = 650kg (1430Ib)

BL = 1300kg (2860Ib)
WEIGHT = 1389 (4.90z)
FURLERLINE@  =4-5mm (5/32"-3/16")
SHACKLE =5mm (3/16")
RS006010 - TOP SWIVEL

MWL = 650kg (1430Ib)

BL = 1300kg (2860Ib)
WEIGHT = 849 (3.00z)
SHACKLE =5mm (3/16")
RS000001 - SERIES 60 FURLER PRE-SPLICED LINE
DIAMETER =5mm (3/16")
PRE-SPLICED LENGTH = 8m (26ft)
ACCESSORIES:

RF6170 - SNAP SHACKLE ADAPTER

MWL = 500kg (1100Ib)

BL = 1000kg (2200Ib)
WEIGHT (RF6170) = 49g (1.70z)
WEIGHT (RF6171) = 62g (2.202)

RF150 - SHACKLE

BL = 1500kg (3300Ib)
WEIGHT = 10g (0.40z)
RF815 - TWO WAY LINK

BL = 1100kg (2425Ib)
WEIGHT = 14g (0.50z)
RF2181 - SAILMAKER THIMBLE
MATERIAL =S§S316

WEIGHT = 59 (0.20z)

THE DOCUMENT & THE DESIGN ON IT

IS THE EXCLUSIVE PROPERTY OF
RONSTAN INTERNATIONAL PTY. LTD. RONSTAN
& IS THE SUBJECT OF COPYRIGHT.

DATE ALL DIMS IN MM

www.ronsfan.com
13/04/11 5o NOT SCALE

TITLE

Series 60 Furler Spec Sheet A3




Il — SPLICING INSTRUCTIONS:

S60 Furler Maintenance Manual

RONSTAN

You will need:

Ronstan supplied
splicing needle

\Q%\( uCtiozg

| - FURLING LINE REPLACEMENT: Removing/Replacing/Adjusting length of

Continuous Furling Line

e RS000001 — 8m (26ft) pre-spliced continuous loop.

Sharp knife Unscrew the M4 nut, on the underside of the furler. Remove the
e RFSPLICE-1 - Splicing needle can be purchased if a custom length is required. Cut the RS000001 loop and re-splice. Marker pen sltalnless Ste?' fUlF“”Q line QUld? and teflon strip. Remove the fo!lﬂg
Refer to next page for splicing instructions Tape measure line. The furling line can be adjusted to a custom length as required and
© Pag plicing ' W'pp'glg twine & easily replaced in the drum. Refer to the splicing instructions below.
needle

What you will need: Spanner to suit M4 (5/32”) nut, Silicon lubricant spray (eg: Ronstan Sailfast RF3000).

Core Removed=30cm (12”)

Step 1 Step 2

|
20cm (87)  [10cm (4"

M4 Nylok

End A
End A cover End B cover
NOTES o ; & end of cut core & end of cut core ;
® Remove the M4 Nylok nut holding the Stainless Steel guide to the furler shaft. | 7 /\A?‘/ 7 7 #J
A
e  Slide out the guide from the shaft allowing the PTFE strip to come free. T T — ]
. . . i . . . L Trimmed tip of Enl L Locking rimmed tip of En

e Replace the furling line with the RS000001 new pre-spliced continuous furling line. cover only stitches cover only

e  Spray Ronstan Sailfast or similar silicon based lubricant in to the groove in the plate to ensure smooth operation.
e Re-connect the guide to the shaft ensuring that the 2 bosses on the guide push in to the matching cutouts in the PTFE strip.

Series 60 Gennaker Furler — Gontinuous furling line splicing instructions

® Swivel the drum by hand to check that the drum spins freely over the PTFE strip. 1. Cut the over length continuous furling line either side of the 7. Tie afigure 8 knot in the end of End B.
existing splice. 8. To complete the second half of the splice repeat steps 4-6
Two C leat b dtok the furling line tight wh i dK th " furli 2. Cutto required length plus 40cm (15 3/4”). (interchanging End A and End B) (Diag. 5).
wo Cam cleats can be used to keep the furling line tight when not in use and keep the sail from unfurling. 3 Ateach end: 9. Massage each cover between A1 and B1, drawing the ends
3.1. Pull the core out and cut off 30cm (12”) of core. through (by pulling on the knots) until there is no slack.
3.2. Milk the cover back over the core until there is no RHGAiNEhGG Ine:sucud b Smogt ok Al & b1 wid i
e R diameter less than 6.4mm (1/4") — required for proper operation
slack in either core or cover. in the furler (Diag. 6)
lI-Maintenance: B ggZggmt,o%gi;e(ﬁhzeﬂf?rrgn:r;ﬁ: (iennsdidgfttmz (éuo\‘szrrshould A 10. Mark the knotted end of each cover where it exits the other cover.
— - ’ 11. Slide the outer cover back slightly and cut the inner cover off
3.4. Mark the cover where the core now ends (A1), and also about 2mm (1/167) short of the mark
. . mark it 10cm (4”) further toward the end (A2) (Diag. 1). . n )
® Rinse regularly with fresh water to remove salt. 4. nsert splicing needle into End A at A1 & out at A2 - be 12. Work the outer cover back until the tip of the inner cover
®  Apply Ronstan RF3000 Sailfast (or a similar silicon based lubricant) over the body and components to enhance performance and " careful not to enter or exit through the middle of a plait (Diag. 2). gés;ﬁgte?hrz lenntg g}etﬁeu’::eorrgc;\ét;? J\?:?lihr/ntrgz(;nirrllesrtggv;remllvxtfjcl;tvtviullp
prolong service life. 5. Insert 3-5mm (1/8 - 3/16”) of End B into the splicing needle (the have a nice consistent line diameter all the way through (Diag. 7).
e Replacement, continuous furling line loops are available, order part number RS000001. less line through the needle the easier it will be to pull back 13. Make a few locking stitches from A2-B2.

through the cover) (Diag. 3).

6. Gently pull End B through the cover of End A and out at A1 of
End A, until A2 & B2 on both ends are together (Diag. 4).

*Golour markings used for identification purposes only.

S60INS





